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The candidates should go through the instructions for the candidates before commencement
of the examination

Name of Selection: For the post of FD-III
Maximum marks of question paper (100)

Duration of the written examination (3 Hours)

Candidates have the option to write their answers either in English or in Hindi

Candidates should fill up all the details on the top sheets provided with the answer sheet
No identification of the candidates to be given/mentioned in the answer booklet provided.
Candidate should not sign anywhere in the answer booklet except on the top sheet provided
for this purpose

Writing God's name or giving any sign not permitted as it leads to identification
Candiduies should answer to the required number of questions as per the question paper. if
any, additional question is/are answered by the candidates, then, first required number of
questions only will be evaluated

Handwriting should be neat, clear and legible

If anyone found copying, will be immediately sent outside examination hall. Use of mobile
phone is not allowed in the examination hall

Rough work should be done at the space provided for the purpose

At the end of examination, all blank pages of the answer sheet to be scored out by the
candidates

Use of calculator is permitted only if required to answer the question

Candidates should not leave the examination hall half an hour before the close of the
scheduled time

Speaking, chitchatting inside the examination hall during examination is not permitted -
Question number to be indicated clearly by the candidates on the answer sheets
Candidates have the option to write their answer either in English or in Hindi

In case of any ambiguity/doubt in the Hindi version, English version of the question paper
will be considered authentic

There is no negative marking. However, no overwriting is permitted. In the event of changing
any answer, instead of overwriting, it should be stroke out and again written clearly

Parts of the same question, if any, must be answered together

Every answer should start from fresh page

Any attempt to reveal the identification by the candidates will lead to cancellation of his
candidature

If the candidates has not followed the instructions, suitable deduction of marks will be done
and its application will be uniform for all such candidates
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SECTION 'A'
OBJECTIVE TYPE QUESTIONS. Each Question carries ONE mark.

Please Choose the Most appropriate Answer from the Multiple Choices

1) Area ofa square, if length of a side is ‘@’

a) A=mnr?
b) A=nr
c) A=a?

d) none of the abave

2) In MKS system unit of Length measured in
a) meter
b) centimeter
c) kilometer
d) None of the above

3) Square root of 625 is
a) 25
b) 13
c) 12
d) None of the above

4) One Quintal is ------- Kilograms.
a) 1000
b) 100
c) 10000
d) None of the above

5) Area of Rectangle = ~--~=----- x Length
a) Base
b) Height
c) Width
d) None of the above

8) AHAZ=
a) A*
b) 4A
c) 2A%
d) None of the above

7) One Mile =
a) 1.60934 km
b) 2.54 cm
c) lkm
d) None of the above.

(50 Marks)
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8) 1/3x15/5=
a) 2
b) 10
c) 1
d) None of the above

9) (a-b-at+b) =
a) a-b
b) a’-b?
c) O
d) None of'the above

10) In a triangle ABC, length AB=2cm, BC=2cm, then area of a triangle is =
A

B
a) AB+BC?
b) AB*BC
c) 2
d) None of the above

11)If radius of circle 1s ‘r’, Circumference of a circle is
a) 2mr
b) ar
c) 2n
d) None of the above

12) The bicycle moves at 20km/h, in 6 hours distance travelled is
a) 120km
b) 100km
¢) 12km
d) None of the above

13) Steven just transferred 643 out of his bank account. As a result, the accouiit now has
228,138 left in it. How much money was in the account before the transfer?
a) 327,495
b) 228,138
c) 328,338
d) None of the above

14) How many sides does a pentagon have?
a) 5 Sides
b) 10 Sides
c) 4 Slides
d) None of the above

R
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15) What is 80% of 807
a) 380
b) 264
c) 388
d) None of'the above

16) Fill in the missing number to complete the proportion3 :1= 3
a) 9
b) 1
c) 3
d) None of the above

17) Solve for Y, 3¥ =27
a) 1
b) 5
c) 3
d) None of the above

18) It costs ¥3.50 to buy 7 Chocolates. If the Chocolates all have the same price, how much
does it cost to buy 1 Chocolates?
a) 20.50
b) 22.50
¢) 21.50
d) None of the above

19) 1000 millimeter =
a) 1 centimeter
b) 10 centimeter
c) 1 Metre
d) None of the above

20) 420 seconds = minutes
a) 6
b) 7
c) S
d) None of the above

21) CNC machine are not manually operated. They are controlled by means of?
a) A programme
b) An operating
c) Acam
d) A plug board system

22) What is the second name of center drill
a) Cutting tool
b) Facing tool
c) Continuation drill bit
d) Tool heard
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23) How many types of fasteners are there
a) One
b) Two
c¢) Three
d) Four

24) What is the proper device to hold gear or pully or lathe
a) Steady
b) Angle Plate
¢) Mandrel
d) Four Jaw chuck

25) Converting of metal into sheet this property is called

a) Plasticity
b) Dactility
¢) Elasticity
d) Malleability

26) Which type of bolts is mostly used
a) Chese head
b) Hook bolt
c) Hexagonal bolts
d) Fye bolt

27) The other name of the feeler gauge is known as
a) Gap gauge
b) Clearance gauge
c) Profile gauge
d) Thickness gauge

28) Gun metal is alloy of
a) Copper and zinc
b) Tin and zinc
c¢) Copper, Tin and zinc
d) Lead, Tin and zinc

29) A Carburetor that blends air and fuel in
a) Petrol Engine
b) Diesel Engine
c) Both ‘a’& ‘b’
d) None of the above

30) Diesel Generators are used to convert
a) Electrical to Mechanical Energy
b) Mechanical to Electrical Energy
c) Both ‘a’& ‘b’
d) None of the above
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31) Like magnetic poles
a) Attract each other
b) Repel each other
c) No effect
d) None of the above E

32) Materials that can be magnetized are called
a) Semiconductors
b) Ferromagnetic
c¢) Capacitance
d) Conductor

33) Earth has
a) North Magnetic Pole
b) South Magnetic Pole @
c) Both ‘a’ & ‘b’
d) None of the above

34) Lemon juice 1s
a) Basic
b) Acidic
c) Neutral
d) None of the above

35)Iron rod is an example for
a) Good conductor
b) Bad conductor
c) Semi-conductor
d) None of the above

36) Light travels at velocity
a) 343 m/s
b) 1000 m/s - @
¢) 9.87 m/s? 4
d) 3 *10%m/s |

37)India’s 4" largest mineral resources is
a) Coal
b) Oil
c) Both‘2’& ‘b’
d) None of the above

38) Air Pressure in tyres are measured in terms of PSI, PSI stands for
a) Pounds per Square Inch
b) Pressure per Square Inch
¢) Pressure Stress Information
d) None of the above
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39)Force =
a) Mass * Velocity
b) Mass * Acceleration
¢) Mass * Speed
d) None of the above

40) Unit by which current is measured
a) Amps
b) Volts
c¢) Farad
d) Ohms

; 41) At present, India has _ number of states
! a) 29
@ b) 24
i c) 29
d) None of the above

42) Tamilnadu’s state capital is
a) Chennai
b) Secunderabad
¢) Vijayawada
d) WNoie of the above

43) Finance Minister of India is

a) Hon’ble Shri Arun Jaitley
’ b) Hon’ble Shri Ashok Chavan
1 ¢) Hon’ble Shri Vidyasagar Rao
d) None of the above

: 44) Which 1s the country hosting Olympics 2016
' a) Brazil

) b) Argentina

] c) Australia

d) Austa -

45) Highest run scorer in IPL 2016 1s
a) Shri Warner
b) Shri AB de villiers
c¢) Shri Virat Kohli
d) None of the above

46)3, 6, 9, ----. choose one of the following to fill series
a) 18
b) 12
c) 15
d) None of the above
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47) 1,4, 9, 16, ----. choose one of the following to fill series
a) 20
b) 125
c) 25
d) None of the above

48) 10% of Rs 900 1s
a) Rs 81/-
b) Rs 810/-
¢) Rs 90/-
d) None of the above

49) UN stands for
a) United Nations
b) United National
c¢) United Nature
d) None of the above

50) Mumbeat 1s Capital of
a) Vidarbha
b) Maharashtra
¢) Marathwada
d) Nagpur
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SECTION 'B' (50 Marks)
SUBJECTIVE TYPE QUESTIONS

ANSWER ANY 5 OUT OF 6 QUESTIONS

1) Name at least ten basic shop tools.

(10 Marks)
2) List out basic parts of Diesel Engine and its function in brief.

(10 Marks)
3)

a) A group of science students went on a field trip. They took 4 vans and 9 buses. There
were 8 students in each van and 40 students in each bus. How many students went on
the field trip?

b) Yesterday, there were 68 problems assigned for maths homework. Ram did 75% of
them correctly. How many problems did Ram get right?

(10 Marks)
4) Three dancers are positioned on stage. Laxman is straight behind Raj and directly right of
Ram. If Laxman and Raj are 3 metres apart, and Ram and Laxman are 5 metres apart,
what is the distance between Raj and Ram?
(10 Marks)

5) Define and explain Speed, Velocity and Acceleration?
(10 Marks)

6) What is force? What unit is used to Measure Force? Write the equation of Force, if you
know the mass and acceleration of a object.
(10 Marks)
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U HT ATH : TH.I.-39¢ & AT
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Fwitear @1 fédt a1 SRt § S 3 et fee fear T R |

A YRRt & 1Y Iaeed FhT T 2 offe oX IRTEET T q fereor e @ney |
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@ e Sueey fpg T 2f9 ofie & T IaY giae ¥ il o @ W SMEaR @l 0 BETer
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SHTEERT @ 99-TF & AN Ul & SMeeddh a8 aF daieq | Aty Srfieary § sifiied uedl &
SR few Ta B 1 dae gee 4 T gsAt @t & et fenar ST |

FEICT T, ATh-ait 3T 9g" Irg g9 a1 |

fpdt SHleaR @1 0 &I Y 9T ST W 3§ dehld TUET B § AR e S
AR HHATE G Ay ST |

T T § s W T A o

HAT H I T T R W BT FedT i FoRar S e |

SHiTear] B1T RN & 37d § S GRaHE @ g+l Red yeot & Tdiferd fehar ST ARy |
W GO U & TH 34 & [ IR TS T Headgwed SUART BT AR & 75 & |

T @ eiia T e 8§ oTeT € & qd SHIeaR] dl THieT Bfd BisT &l AT Tl o
ST |

TRT & SR T Bt ATt i @ AATd 8l 8 |
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T & (50 3F)

TEIfISs WAl WeAF WA F AT v 30 T |
FoaT F§ fawedt & A I F TIT A

1) UF g FT AT FAT Q91, AR 39F h REF i g9 © g
a) T=nqr?
b) T=mnr
c) T=aq?

d) 3F7 & ¥ FE ah

i 2) TH.F.UH. YOI F S Y 5 ... F AT S #)
& v 7
. b) HHRT

c) frensflex

d) s&a & ¥ S =@

3) 625 @ qa
a) 25
b) 13
c) 12

d) 3Fd A A :E AL

a) 1000
b) 100 |
¢) 10000 .

d) 3Fd ¥ F ;|§ a7t

c) dls®
d) 3Fd & ¥ FF =8N

8) A2+AZ=
a) Aj :
b) 4A
c) 2A

d) 3Fd H¥ q F5 il
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7) & A=
a) 1.60934 feaHex
b) 2.54 AT
¢) 1 e
d) 3Fd F F FE 7l

8) 1/3x15/5=
a) 2
b) 10
c) 1

d) 3Fd & ¥ 15 adh

9) (a-b-atb) =
a) a-b
b) a%b?
¢y 0

d) 3Fd & T +5 gl

10) BT ABC &, d@1§ AB=2 ¥defiex , BC=2 d&efiexar BFIor &1 awd =
A

B
a) AB™BC(C?
b) AB*BC
c) 2

d) 3Fd & T +$ 1M
11) 3fg aF Y BT ¢ & 9% f1 aRfr = eft

a) 2mr
b) 7r
c) 2=n
d) 3Fa & T I =gh

12) arsfer gfer wer 20 fralfie aodt § o 6 o2 & frae gt au wh
a) 120 fFensex
b) 100 freHieT
c) 12 freeex
d) 3Fa & q FF g
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13) TG oF a7 dF WA ¥ Fad < 643 TGRS T & 0F IRomFAEIR, 39F

@ # 39 < 28138 &9 T §| TAFEIOr ¥ I8 3WF W A fhasr s &

a) 227495
b) 328,138
c) 228,338

d) 3Fd & ¥ S N

14) TF YeRE & fFas g3 8l &
a) SHIgS
b) 10 9Es
c) 43158
d) 3Fd { @ S €N

i 15)380 T 80% &F4T &7
: a) 280
b) 364
c) 388

d) 3Fd # ¥ F5 W

16) 3:1% 9T F Q@ FA & fav RFa d&ar siv = 3
a) 9
b) 1
c) 3 .

d) 379 H ¥ S h

17) Y %Y oG, 3¥ =27
a) 1

b) 5
c) 3

d) TFa A ¥ i 71dh

18) 7 Aihore @l & AT 2350 A aerd wercht ¥ Ay @l aiwee) &1 57 @& @ ¢

ar 1 gikae W F v fFasr $av w@iey
a) %0.50
b) 22350
¢) %150

d) 3Fd A ¥ F$ w1

Page 5 of 12




19) 1000 fArefeiey =
a) 18R
b) 10 ¥dex
c) 1 #eX
d) 3Fd & @ F§ ah

20) 420 AH3 = Aae
a) 6
b) 7
c) 5

d) 3Fd & ¥ #$ =@l

21) B, wher 1 Aereh Tt gt B el SR Rewd e @ PRt ()
e ST &
a) UH FIe
b) TF TR
c)UEF#?H'
d) UF THI €15 Yorel

22) ¥ 3 # FleT & gEY AR @ ST AT &
a)?ﬁﬁﬁg\ﬂ'
b) SR &
¢) Ba T ff ARawar
d) geT &%

23) Faa YHR F FREA §
a) T
b) &l
c) de
d) 9

24) Frer a1 goelt A7 @Y P gles F FsRT IRT FlT F E
a)ﬁ'ﬂT
b) HIT TiT
c) HZ
d) IR Jt 9%
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- 25) uig A Afle H agert B F4T FEd @
a) CATEeAdr
b) swRRw
c) sefEefad r
d) Aafafedy

26) T YR F diec ST 399N FfUFaR fFar ST 8
: a) sl §8

: b) §F aeT

{ ¢) FFATNTA dlecy

d) 3 dee

27) BN AT HT GO AH FT §
a) AT AT
b) Fawiw I
c) BB AT
d) Bstw O

28) =T g Rw ang & Bsor & wear ¥
a) deT 3R SIFar
b) et 30k srear
c) amn, e 3k sEar
d) W e 3 srwar

d) 37 § ¥ 5 71

| 30) STl SeReX FT 3ART FY gRafda s F A B s
a) facga #1 Fifw FaT &

b) FifAF M fgga Fat #

c) qwt‘a’& ‘b’

d) 3Fa H § FS 7[gH
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31) T SR gEEhE Gew
a)wq\q’\fa’rarmﬁamﬁl
b) TF gAY ¥ @ I &
c) PIF T AEN
d) 399 & T WS g

32) EGIHT FY GFAHRT TART FY FAT FT AT B
a)ﬁﬂﬁ%ﬂ |
b) WRATAEF
¢) FiIf¥e
d) HzFR

33) gedt #
a) mﬁgaﬁqga
b) gf&IoT g =
¢) aFifa’ &b’
d) 3Fd & T *E =gh

34) g FT ™
a) aRAF
b) TRE®
©) T

d) 3Fd # ¥ g a7dh

d) 3Fa & q F$ N

36) JehTRr T FefAEY ....... gl
a) 343 m/s
b) 1000 m/s
c) 9.87 m/s?
d) 3 * 10%m/s
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37) AR &1 9T G997 931 W@iaer @Ay
a) PIAT
b) ol
¢) gt ‘2’3 b’ i
d) 3Fa & ¥ F§ [0

38) TRRY & gaT #1 gard N.ew.IEX AT Arar §, DowIns.s ey = @
a) UI3%H W THAAT 59
b) WX W FHIW 3T
¢) MR TWH gohEeE
d) 3Fa & & § g

39) BRT =
a) A * qAN{EY
b) AR * vidgeer
c) AT * TRE
d) 3Fd & @ FF €N

40) Ie # FH sHS A AT T T
- a) TuAdLEg.
b) areew
c) BIS

d) 3%d F ¥ FF €N

42) AT TS Y TSI
a) AewIS
b) fsemarg
c)ﬁGFErEITST
d) 3%Fd A q IS AL
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43) 9Rq & e #=
a) AT s 3AFoT JASelT
b) ARTIT it 3rae =egTor
¢) ALY fagEEmR I
d) 3%d H & S EN

44) 3w 2016 i AT 7 |7 Fr F W@
a)a'l'\iﬁﬂ'
b) 3rSTENT
¢) 3irEefaar
d) 3iifegar )

45) 3§ N.0e.2016 & W@ 3w T 99 arer
a) & aeR
b) s wdlt fRfART
c)’*ffﬁ?l?.'ﬁﬁs?ﬂ
d) 3&d & ¥ FS =

46) 3,6, 9, - @l XA F v Pe=fdf@a & ¥ vs &1 997 =
a) 18
b) 12
c) 15

d) 3% & T FS gl

47) 1,4,9, 16, - H@AT RS & fov Prafaf@ad & § ww &1 gge7 ¥ @
a) 20
b) 125
c) 25

d) 3Fd & T +$ w1

48) TIT 900 HT 10%
a) U 8I1/-
b) F9T810/-
c) TUT90/-
d) 3&d & @ S 7N
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49) g u=T.HT HiAIed AR

c) FABES AR
d) 3Fd A ¥ FF =&

50) wene Y TAUTA HAS & |
a) faget
b) HBWISE
c) FToArst
d) AR
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qEr_|@ ' (50 37F)
AaoneRs yeeT

6 AT H 4 Fedl 5 FT I &

) 7 § F9 ¥ A9 o F 7 AR |
(10 37)
2) SIS g9 & HA AT F1 A § 3N 39EF F w@farca F [_f@c
: : (10 31)
3) ,
2) Rraw & Rigafiat #1 v wig Ses R & Mo amm am 3 4 373k 9 o &
T & 93F & A 8 Rt 3k yiF @ F 40 Rl 91 fies Re F fw
el fraer gt av & :
b) Fd, AT IE F4 F A 68 we7 BT arv & 39T & WA F 75% W IW R
WA F Fast vl T 3W T AT
(10 31)
4) O a5H F AT W AW W WA T F AT ;Y i w7 F fY g oas
afy @aAor 3 T vF qEy & 3 #ew 3R T qur wrHwr v gy ¥ 5 e fr
ot W& ar o 3R e F fwhr g =R
(10 3F)

5) ¥z, IR 3R tRfiaea & T F=F suH sarea F0
(10 37F) @
6) PR F1 & 7P F ANA F AT FH FE w1 3UMer FAr v § 0 A IR
et o g w1 A i viraeRye var ¥ A B S swave Afaw
(10 37)

-* -* -*
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